Paluszkowa  metoda  mnożenia  przez  9.
                                  1  9 = 9                                                                                                      2  9 = 18
 (
                                               1      2     3       4       5      6     7        
8 jedności
                                         
) (
                                                                                        
                             1     2     3      4                   5         6     7     8       
9
 jedności
)
 (
1
 dziesiątka
)



 (
P
) (
L
) (
P
) (
L
)

 (
             
3
 dziesiątki
) (
   
2
 dziesiątki
)	                                  3  9 = 27                                                                                                    4  9 = 36
 (
6 jedności
) (
            
7 jedności
)





 (
     
5
 
dziesiątki
) (
4
 dziesiątki
)
                                                        5  9 = 45                                                                                                   6  9 = 54
 (
4 jedności
) (
5 jedności
)





 (
         
7
 dziesiątek
) (
6
 dziesiątek
)
                                                                    7  9 = 63                                                                                                 8  9 = 72
 (
  
2 jedności
) (
3 jedności
)





 (
9
 dziesiątek
) (
                   
8 
dziesiątek
)                                                                          9  9 = 81                                                                                         10  9 = 90

 (
1 jedność
)






	                         Prawda, że  to  łatwe?
